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Choose the correct answer
Izl tan 42° = .. Cot 'S
(a) cot 42° (b) tan 48° (c) cot 48° (d) csc 48°

Cob (0 -w2)
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Choose the correct answer AN

cot (90° +0) = —-1"‘“\ 8
(a) tan (90° - 0) (b) —tan 0 (¢) tan (90° + 0) (d) tan (270° + 0)
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Choose the correct answer

sec 105° _SCC(“°“\S) < —-C,Set{ = -4 _ Cat \35
PRSI Y Sy -

sin 105° " o o
(a) T (b) tan 135 (c)cot 15 (d) cos 90

ar>.
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Choose the correct answer
\RD

tan(180°—6)=~-""---ﬂlﬂle 8

(a) tan O (b) —tan 6 (c)cotB (d) —cot
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Choose the correct answer

sec (90° + 0) = - CSCHQ \atﬁco'
(Xcsc (180°-90) (b)csc (180° +0) ﬂcsc (270°-0)  (d) csc (270° + 0)
cscd - CSCQ — Sec© -~ Seco
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Choose the correct answer
cos (270° - 0) = == S @
(a) sin O (b) cos 6
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Choose the correct answer

[f sin© =% s then cos (270° - 0) = —S'M g:

(@ 3 () == © 4 @
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Choose the correct answer
cos (90° - 6) x csc 6 = SN X CSCB = L
(a) zero (b) 1 (c) -1 (d) =
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Choose the correct answer

sin 50°  sin 70°
It cos 40° * sin 110°
(a) 1 (b) 2

1<1-9

=k sthenk=:-.
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Choose the correct answer

The simplest form of the expression : tan (90° — 8) + tan (90° + 0) is -+
(a) 2 cot O (b) 2tan O (c) zero (d)tan © + cot ©

2NN
‘{jaw\ (R0 -9) © ‘6‘,“ Qo Q) S! A | )

Cetg - Cbt‘e =Z¢,(o

B
iy
B
L
=3
12
/s
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Choose the correct answer

(a) tan X (b) —tan X (c) tan (45° - X) (d) cot (45° — X)

qo—qu + ) ‘60‘“ X=Gt®
X +®=}0o
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Choose the correct answer

cos (60° — X)
(a) 1 (b) -1
=)
L
23
[
}* ’
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Choose the correct answer

s +x) A
cot (45° - X) ~

(a) -1 (b)1 (c) tan (90° + X) (d) cot (90° + X)
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Choose the correct answer KO ?g
sin (90° — 0) sec (360° — 6) —cos (270° + 0) csc (180° +0) = - D 4/
(a) -2 b-1 " (€)1 (d)2 A

GsQXSec® - S0 x—Csce
{1 - 2

-
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Choose the correct answer

If A+ B =90° ,tanA:% sthen tan B = «vvro...

(a) + (b) 2 ()1 (@3

A‘\'%:Q\O
4o B - Gt B

GtR =% o toani-3

-
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Choose the correct answer
sin X —sin y 65‘6-—@5”’- (‘557‘/’(83(

T -
Ifx+y=? )thencosx_cosy_...&.’,‘ -Gs} = GS 53 ‘
(a)—1 (b) zero (c) 1 (d)2

7\*3 =ﬁo % "
b
S‘.w?\:(ﬂS% B

S‘w\‘ s GS A .

-
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s
Choose the correct answer Ko +
cos 0 +cos (180° —0) = -
— g——,
(a) zero (b) 1 (¢)2cos B (d) cos ©

QSG“QSG:ZZJO

ar>.
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Choose the correct answer ~3‘—<
sin 6 + cos (2;(.);+ @)= R
(a) zero (b) 1 (c)2sin© (d) sin B cos O

S\V\Q + S‘N\ Q - 2 S\V\Q

ar>.
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Choose the correct answer

The simplest form of the expression :
sin (180° — 0) + cos (— 60°) + cos (9_Q_° +0)+sin (= 150°) = ---oeeee

(a) zero (b) 1 (-1 (d)2sinB
;-(Q{ Cos b0 -w\- S 2\o
;_— = %’_ =72«
Ve Ve 3w (\go +39)
‘ = —JDn 3o
_ \
- T

0122 13 15 981


Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil




20 | Toge*l')er we can make n

Choose the correct answer

If cos © =—sin 2 6 » 0O is the smallest positive measure s then @ = .-

%) 60 (N 150 .((:/)90
(O§6°s ~Su\lo (291605 St @540: Sw(8
.S _85 .93
Js\'. . % %, 1

£
iy
B
L
=3

12

J:
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Choose the correct answer

If 1/ 3 csc © = — 2 where 0 is the smallest positive anglesthen =0 -
(a) 60° (b) 120° (c) 300° (d) 240°
a C

/

CSCR: -2 ‘s
53 3& \€o -[-g :.2‘-(,6

S’«v\ Q:-—SE./ 4\ 6o

2-\) L -360 -0-30d

-
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Choose the correct answer %%

If cos 6 = _21 » 0 is measure of the smallest positive angle s then 0 = -

(a) 60° (b) 120° (c) 240° (d) 300°
J ]
m\ '\go - é = \278

Cos @ ___<
. \%01—& =2U0

R
=
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Choose the correct answer \¥°
N Y =
If cos (270° - 0) = % where 6 is the measure of the smallest positive angle
sthen® = -----....
(a) 30° (b) 150° (C) 210° (d) 330°
._/S“'\e s l ‘d ~
2 3 \go+fP- 2O
Sty e
\_) &k -360 _®» =330
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Choose the correct answer

(a) 150° (b) 240° (c) 210° (d) 330°

BR\'. |Ro \—é =Quo
=

. &
8 Q 2 L\'p"., 60 & =3x
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Choose the correct answer

If tan 6 = tan (90 — 6) where 0 is an acute angle sthen © = - B
(a) 15 (b) 30 (c) 45 (d) 60

tonQ =Gt @

; 9«9 =40
. 9Q0-Qc — O-L5°
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Choose the correct answer

If cos (990° — @) = L where 0 is measure of the smallest positive angle
ol

sthen@=...ccc.... 2
() 30° (b) 150° (c) 210° @ 3302 .
b
Cos (JF0 @) - \ Jﬁ« 3
2 \/

\ R
— S\V\ Q 9 %‘d‘ \§0 *b i\;

- \/
L \“ 36 TBP =33

-
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Choose the correct answer _§ \}° __\.
2=
If 2 cose+\[§=0where 180° <0 <270° sthen @ = - 2%
(a) 150° (b) 240° (c) 210° (d) 300°
2G50 - - 83 8o -9 ()
Cos 6.-32
2

ZA :\go &3€ -2\c
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Choose the correct answer

- > »
If5sin X=3 »then sec @70°+ %)= . C.SC X & Sax  ©

3 =3 = 5
(a) 3 (b)T N (C)T (d) Y
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Choose the correct answer

AN
Ifsin9=—% s tan0>0 ,>then®= -
L =}
(a) 30° (b) 150° (c) 210° (d) 330°

1§30 + e 9.&0

Sw ¥ =
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)
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Choose the correct answer

Q&
Ifran0="> , Cos0<0 }ith 0= S
an —F ) 0S < then csc = e S 13
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@ % > - OF - @ ==
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"-\ T ¥ -y P.

0122 13 15 981


Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil




31 | TogeH')er we can make
&

Choose the correct answer
If 2 sin (90° — 0) = 1 » wher

(a) 90° (b) 60° (c) 30° (d) 45°

9Gs 9.1
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Choose the correct answer

If5cos(90°-0)=4 5 0°<0<90° >thensin@= -
S -3 4 3

)
b
[a o]
L\
0|s
ar.

0122 13 15 981


Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil




33 | TogeHﬂer we can make

& e
Choose the correct answer 3
A Z ‘\qum
If sin 6 = — 0.8 where 180° < 6 <270° 5 then 3 cot (270 — Q) = .-
(a)-3 (b) 3 (c)-4 (d) 4
U
8'\“ e (- - e——
S
3 Gt (2% _9)

s
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Choose the correct answer

If24tan@+7=0,90° <@ <270° , then sec (1080° + ) = -v...... . 1%
24 -24 25 =95
(a) (b) =22 © 2 @2

@

£
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B
L
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Choose the correct answer

If 13sin (90°-6) =5 sthencos @ =

12 -12 S -5
@) 13 (b) — () () —-

&

O
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D

Choose the correct answer 9\

If cot (90° + 0) + 1 =0 where 0° <6 <90° sthencos4 0= t
e

(a) —é— (b) 1 () zero (d)—1

_'tﬂw\e *\:0 l‘
S S A C P T
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CDS L\ez GS \gﬁz -\
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Choose the correct answer 90 cle ‘!‘!'./[

If cos (90° + 0) + sin (90° -2 6) =0 s where 6 & ]O ,%[ s then sin20_= ----------

(a) % (b) 1 (c) zero (d) g
—

-~ £ 5200 ',,
520 =S
200 =%

30-% = Q=3

g‘\\'\ 26 -\ wmbo - &.__i_

22—
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Choose the correct answer 99e)o C

If cot (90° +6) + tan (90° ~26) =0 » where 6 € J0» 7 [ s then tan 26 = -
(a)T%— P (b) 1 () zero @3
- ‘h?“ 9 « Cpt 9-9 =0

Co‘t 2—6 :‘.JC‘“\Q
20 <« ©-=%0
39-% = 9 -3¢

'60“\ 9,65 ‘b’“\éoz G
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IftanB:%—whereﬂ:<B<32n

-7 =3 -
(@) = (b) = )= @)=L

CD.S B - 8‘.1\ Q) &° i)
-\ =3 \ =0 5

’-’z ="

5 5

'
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Choose the correct answer

If 13 sin 8- 5=0 > where 0 € | T » 7t[ » then the value of sin (270° - 8) x sec (90 + 6)
o= cessescses ; ﬁ

- 12 12 -5
(@) — (b) < (€)= @)

/ 12
\3 8.“'\0 = S \3
5|
. &
| NN E 3 —\2
S I (L0 - X SeC (Ro 49
—GsO X -Csc @

- (/\4/) 7\4/‘3/ '_\s'
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et

If the terminal side of an angle whose measure is 0 in standard position intersects the

unit circle at the point ( _;/; ’ y) where y € R then = -
=

(a) 30° (b) 150° (c) 210° (d) 330°

(-8

$t6=1 '{'\’o) P.

- .
-3' ‘ts:\ (059 39
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Choose the correct answer

If(X?%

standard position with the unit circle where 90° < 6 < 180°

sthen sin (90° —0) tan O = ---------.

) is the intersection point of the terminal side of a directed angle in the

1 = 1
@) 5 (b)T © 3 (d)—3
5 \/, St (0 -0) Ktend
| %J f- s i ij,n-:?/=ghe;3=l§_
.\ -.\_
B U

X

X
_& v S U W S
9! > w '6;« $ =

sO 8\-0

SOETIIC) b W -

Cos ? K—&u\g
Z v,
N S e

ael Gamil 0122 13 15 981
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Choose the correct answer

If O is the measure of an angle in standard position and its terminal side intersects the

unit circle at (X »— X) where X >0 sthen @ = . P

(a) 45 (b) 135 (c) 225 (d) 315

% 1
X x(-%x) =1 360 |

X ax =) ‘

9.% L 210

,.L ——-—u«%\

%:cose-% = Q:Gy (h): us 8

K™, 360 _L5: 35"
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44 | TogeHﬂer we can make

Choose the correctanswer (-  «)

If the terminal side of an angle whose measure is 0 in its standard position intersects
the unit circle at the poin, %) s then csc (12E = e) —

@ 3 (b) 5 (© > @ =2

CSC, (.9-10 - 9) = _sece

-
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45 | TogeH')er we can make

Choose the correct answer Q\° - Qc 9

If the terminal side of the directed angle (90° — 0) in the standard position intersect
@=2 O ©= @2
5 5 5
.q -
xscejuo-ﬁh = = 3dwe--%

S
w (R0 _9): @sQ =3
D =Sw(Qo - )7; = Gs >
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Choose the correct answer
If sin oc = cos B » then csc (oc + B) = C,SC- qQ s i

(a) 1 (b)— 1 (©) L (d) undefined.
3
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47 | TogeHﬂer we can make

Choose the correct answer tonQo = “"‘éé'
q° -

If sin oc = cos B » then cot (o< + B) = -+ z e

(a) 1 (b)-1 (c) zero (d) undefined.
\ Zero

" w— = {20

Ct9o . =
‘E&\c&o i

-
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48 | TogeHﬂer we can make

Choose the correct answer

Ifsin@=cos20 ee]o,%[,mensinsez-STv!\Q\O =1
(a) % ) 1 (c) zero () g

39:=90

-
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49 | TogeHﬂer we can make

Choose the correct answer

(L) If sin 2 8 = cos 4 © where 0 is a positive acute angle

sthentan (90° =3 0) = ..o

(2)— 1 (b) ﬁ ©1 @3 -
B e = 10 ‘tew\ U\o -3 0) P
2 < L\ q 4o (0 - & 5)

69:%0 . ,takuszi/
e"%'s—‘\s % ’tpw(c\o-gg)

=Gt 39

= Cst LkS:it/

-
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50 | TogeHﬂer we can make

Choose the correct answer

IftanB=cot20 5 0°<0<90° sthensinO+cos29=-ree

(a) 1 (b) -1 ()2 (d)%
8+29-Q0 S0 «Gs2d
Sin 30 x G5 b0

\396’5':0? Sk

-
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51 | Togeﬂﬂer we can make n

Choose the correct answer

If sin (B + 13°) = cos (O + 17°) where 0 is a positive acute angle » then tan @ = -----.---.

@13 (b) 5 © (@ @

O +8+0+1.q5 £n @ 10

>
90 <38 .30

20 =96-30
249 -60

530‘.
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52 | Togeflﬂer we can make n

Choose the correct answer

If cos 2229 _ gin 40;9 20° <0 <90° »then O = -
(a) 20° (b) 30° (c) 45° (d) 60°
2049 Lo+ 0 q
9 =y ) = Q }"

90« O 1Uox 8 _ Q\O
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Choose the correct answer

The general solution of the equation tan 2 6 = cot @ is ---------

T T, T T T
(a)2+J'l3n (b)€+?n (C)E‘FZRH (d)€+.‘ﬂ$n

2049 =
34 -

o
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Choose the correct answer

For every n €Z » the general solution of the equation : tan 2 0 = cot 4 0 is -

(a) 15° +360° n (b) 90° + 180° n (c) 15°+30°n (d) 30° + 180° n

20«49 = Qo + \Bon
60 - Qo x \Rown (':Té)
! Y@- \STBQVT
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Choose the correct answer A 13 = Qo0 «36ev

For every n €Z » the general solution of the equation : csc ‘G_i sec (30° + 0) is -+-ee--

(a) 60° + 180° n (b) 30° + 360° n (c) 60° +360° n (d) 30° + 180° n

Q x304@ = Qo 4360w

20433 - 40 + 360w
20 . 60 s3bom (=D

1\‘ @‘ 30 4 \govg

B
L
2
3 " ‘4
"',\‘i\
Do N
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Choose the correct answer

If ABCD is a cyclic quadrilateral and sin A = % sthensin C = -

A+C=\B%o
C-\80-A
8’\\'\ C-= S\'\L\KO-QB

A\, A Q"N A:é-
SwC: S =
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Choose the correct answer 4 .CD.S Z +
'S

If XYZL is a cyclic quadrilateral 5 cos X = % then sin (270° — Z) = seasenens

V3 V3 N

(a>73 By~ © + @-1
X+Z=\80
| Z = \Ro—-XA
- Ces 2 = Gs (\§o-X)

CosZ = X Cas X
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Choose the correct answer

In a right-angled triangle and one of its angles is X° 5 if sin X = % s then

cos (90 - X°) = Sz 9-5
@ 5 OE= © Ok :
-
o~
L
=
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Choose the correct answer =
If A ABC is an obtuse-angled triangle at A
sthensin 2A+B+C) =

—4

@ 3 ® 2 ©5 @ 3

\ 80

Sin ( AcAxBxcey _ DQu (\Ro+ A)
= —3‘\»\ ﬂ -

0
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Choose the correct answer

ABC is a right-angled triangle at B » ifgs A= %—,}en the value of
sin(A+B+2C)= . A
L g el 1
(a) 9 (b) T (C) 5 (d) zZero é B

S (AxB+ C+Q): 3w (Ro0)

| = —inC A*c-f\o
B z C,oSAfii CosfA - =3wC
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Choose the correct answer

If XYZ is an acute-angled triangle and tan Z =VE sthensin (X +y+22z)=-
3 -13
@-13  »3 oL @=L

8'\1\ (,7\4(3 .‘2_ .\.7_) = S’\"\ (Ro ’\Z)

- RNz /‘5 .

- 93 \

28

-

0122 13 15 981


Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil




62 | Togeﬂﬂer we can make n

Choose the correct answer CosA — Cas &
If ABC is an acute-angled triangle s then cos A+ cos (B +C) = Z&(b
(a)—1 (b) zero (©) 1 (d) %

/'7
AT(B-\- Q:\SQ

B1C=\R0_A
CoS(B+0) - (os (8o -A)
(os (Rx0): — CasSA

4
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Choose the correct answer

In the opposite figure :

If DEBC »AD=DC »sin 6 = % » then cot (270° - 2- ) =
3 1 2

(@) 1 (b) 5 (c)2 d) 3

Cot (2T0-9)
= tan & _towc . AB
> =

A

-
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Choose the correct answer

In the opposite figure :

IfA=(2*,2‘:’/§) ,B=(-2,273)

s then cot (180° —m (£ AOB)) = -
@l (b) 5

(c)%l- @3

Cst (80 -60)
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Choose the correct answer

In the opposite figure :

D EB_C' »sAC=10cm. sAB=12cm. sthencot® =--------.
6 6

(a) 3 (b) - 5
5 S

© 3 -2

9=A+’\3 = 6= ({O-\-B
Cot 8 : — tan®
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Choose the correct answer

In the opposite figure : D A
ABCD is a square s CE=2BE sthentan 6 = -
3 2

(@) -5 (b) -3 3

1 2 B
© 5 d 35 0

C EIB
Q2 {

‘ O : Qo+
A ﬁowgz—tow\ (RO-’(K\

fow 82 = Cat <

ﬁa"\“: = 3?
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Choose the correct answer

In the opposite figure :

A ABC is a right-angled triangle at B » tan 6 = —2— ’ i

then €OS 0L = v >

@ 3 (b) -2 M :
©-5 @ -3 ; .

| D(= %O-te
g CD)&:C9>(QKO*G)

Cos K - —S‘w\g

3
Co50k"" S

g
B
L
=3
1
J:
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Choose the correct answer ® Qo :ﬂo
In the opposite figur‘_ o . ‘\e - qo
ABCD is a rectangle BF L AE
v

(@) + OF

©-% @ 2

0('. 0\0-@9
Cot X = Gt (R0+0)

A
C\pt 0\ = —'eoul\e = - L
S
;:
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Choose the correct answer

In the opposite figure :

. 3 == | == D 3 F A
ABCD is a rectangle 5 cos 6 = T° EF L FC, 0 s
then cos OL = +--evee ’_

3 4 <\JE
(@) 5 (b) % L 9 |
3 3
© -7 d
X «Q=\%0

X =\Be -9

(o5 K = Co5 (\Bo -©)
CaSOK = —Cbse 7'%
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Choose the correct answer

In the opposite figure :
cCosO=-nnon.
@) 2 (b -2
©-% @-%
X £ 9-\0
e z \%0 —X

-

Cos 9=z Cas (3o -R)
CQS e'.—CoSD‘-
Cos Q.- 3

Eae
Bl
.
=%
o
P
l |
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Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil




7 | TogeH')er we can make

Choose the correct answer

In the opposite figure :
ABC is an isosceles triangle in which

AB=AC ,D&AB,DE 1L BC ,DF 1L AC
sm (£ EDF)=6 sDE=4cm. sBE=3cm.

sthencos O = --veeee-

@ 2

B-3 ©-%

X xQ =\Ro
O=\80 - &

Cos O = Cos (130 —X)

Cos G= —(as K
3

(o5 - — =
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Choose the correct answer

In th%ite figure :
E
If3BE=4CE =9 % =.‘%

» then tan (£ ADC) = -

OF: (b) -5
OF: -2
XxX-= qo

K*\Sob:?go Rz\Bo—e
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Choose the correct answer
In the opposite figure :
m(ZAED)=m (£ B
Lias e
s then cos C + cos (£ BDE) = ---oe
D Sl
(a) 1 (b)—1 (0T

v
%\
\)

!

%
v

iy
B
L
=3
1
P
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Choose the correct answer

The range of the function f : f (0) =sin O is -
‘(a){—l’ 1} (b)[-151] ) ]-151[ (d) |- o0 5 00[
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Choose the correct answer

If f (8) = cos 5 O s then the range of the function is -
(@) {-5,5} by [=1 +1] ©]-555] (d) [-555]
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Choose the correct answer

The range of the function f : f (6) = 4 sin 2 8 where 8 &[0 ,2 7] equal -
(a)[-4,4] (b) ]-4 »4( ©[-2,2] @ ]-2,2[
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Choose the correct answer

If f(8)=sin® s 8 E[0 5 7T[ 5 then the range of f is -
@[-1,1] (b) [051] @ [-150] @R

0122 13 15 981
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Choose the correct answer

The range of the function f : f (X) = CO; X where X ERis --vvreo-

@[-3-4]  oFal T ©Fs.sl @02

p(x) = AS—COS¢

\
L, 1

0122 13 15 981
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Choose the correct answer

If the range of the function f : f (8)=2asinBis[-6 6] sthena= -
(a)3 (b)-3 (c)6 (d) a and b together.

26:=6 Qa--6

-
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Choose the correct answer

The minimum value of the functionh: h (8) =5cos 7 0 is -
(a)5 (b) zero (c)-5 d)-7
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Choose the correct answer

The minimum value of the function f: f (0) =1 +sin 3 0 is -
(a)-3 (b)-2 (c) zero (d)—4

p(9)= { £Sw380
< 1. 1 ["1‘3
= Lo,2)
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Choose the correct answer

The minimum value of the function f : f (X) =2 cos X — 1 is -
(a)-3 (b)-2 (c) zero (d)-1

fny:2Gsx -\ 2
- [-228-0
= [’3 \ 13

)
o
-,
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Choose the correct answer

The maximum value of the function g: g (0) =4 sin Qis -
(a) 4 (b) 1 (c) zero (d) o=
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Choose the correct answer
The function f : f (X) = 3 + sin (X) reaches its maximum value at X = qo

T T T g
(@) g (b) 3 (©) 5 (d) o
h
N AN
\ A
) gto g6
Qo ©
=\
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P N
Choose the correct answer L-f_‘ t \’S

If f (6) =4 sin 3 O » then the sum of the maximum value and the minimum value of
the function f (0) = -+
(a) 8 (b) 6 (c) 2 (d) zero

’(QDQ'. L'q\‘-\x &—— L\) < (W) =Zele F‘.‘
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Choose the correct answer

The function f : f (0) =2 sin 4 O is a periodic function and its period equals -

()27 (b) T = (c)% (d)%
2T )Z"\T T )
ol w2 P.
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Choose the correct answer

If f is a periodic function and its period equals % sthen f (X) could be ---------

(a) 4 sin X (b) sin 4 X ©) % sin X (d) sin + x

o A
ol - = \bl-y

P
-

ar>.
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Choose the correct answer —-‘U‘—

The opposite figure represents the curve of the trigonometric
function y = f(X) then the rule of the function
1§ semmanes X

ﬂy=sin9 (b) y=cos 6

(X}’=2c089 %y=25in9
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Choose the correct answer

If the opposite figure represents the curve of
the function f: f (X) =cos X
>thena + b = Z@X0

(@)1 (b) zero
(c)TT @271

ar>.
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Choose the correct answer

The opposite figure represents one cycle of 2 =
the trigonometric function y = f (X) s then ;/\
x

the rule of the function is -+

s

iy
B
L
=3
1
P
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If the opposite figure represents the curve of
the function f : f (X) =2 sin % X
s then the coordinates of the point C -+

A(%Tt,—l) (b) (9 TC »—2)

(c)(%ﬂ:,—Z) (d)(%ﬂ:,—Z)

-
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92 | Togeﬁ';er we can make

Choose the correct answer

Number of times of intersections between the curve y = sin X with the X-axis on the

interval [0 s2 Jl?] equals -
@ (b)2 ©3 (d) 4

LN
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